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ESTIMATING SUMS

Theidea 1s that you can use the "nicer" series, that
you used to compare to your "ugly" series to geta
handle on the error in the first #» terms of your ugly
series.

o

If you used the comparisonteston s = E a, ,

k=1

comparingitto f = Zbk , which converges, and has
k=1

all positive terms (or eventually does...), then from

thefact that ¢, <5, , we findthat R, <T , where

o] o]

R =5—s8, :Zak and 7 =1-1, = Zbk.

b=n+1 k=n+l

Since you usually pick a series that’s EASIER to
compare with, usually the integration estimates we
make are EASIER to make for the 7,,.
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33-36 Use the sum of the first 10 terms to approximate the sum of
the series. Estimate the error.
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This one 1s more for my fun. At worst, it'll be a bonus question on the next
test. Speaking of which, how do we want to handle this? We're getting
ahead of schedule, here. Might want to stop and do some reviewing before
we plunge too deeply into the later material in Chapter 12.

One issue students have with Chapter 12 is that the different tests, especially
the Ratio Test -versus- Limit Comparison Test, get confused in their minds...
I'd like to try to structure things to avoid that, as best I might.

39. Prove that if a, = 0 and = a, converges, then = a7 also
converges.
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